Kansas Corporation Commission Oil & Gas Conservation Division

ORIGINAL

Form ACO-1
June 2009
Form Must Be Typed
Form must be Signed
All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 31337	API No. 15
Name: Wildcat Oil & Gas, LLC	Spot Description:
Address 1: _P.O. Box 40	S2_N2_SE_SW_Sec. 27_Twp. 34_S. R. 11East West
Address 2:	3,190 Feet from North / South Line of Section
City: Spivey State: KS _ Zip: 67142 _ +	1,980 Feet from ☐ East / ☑ West Line of Section
Contact Person: Gary Adelhardt	Footages Calculated from Nearest Outside Section Corner:
Phone: (620) 243-4401	□ne L'nw □se Øsw
CONTRACTOR: License # 33902	County: Barber
Name: Hardt Drilling, LLC	Lease Name: Liebl Well #: 5
Wellsite Geologist: Timothy G. Pierce	Field Name: Landis
Purchaser: Pacer Energy Marketing, LLC	Producing Formation: Mississippi
Designate Type of Completion:	Elevation: Ground: 1316' Kelly Bushing: 1326'
✓ New Well	Total Depth: 4825' Plug Back Total Depth:
V: Oil ☐ wsw ☐ swp ☐ slow	Amount of Surface Pipe Set and Cemented at: 217' Feet
Gas D&A ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ✓ No
☐ OG ☐ GSW ☐ Temp. Abd.	If yes, show depth set:Feet
CM (Coal Bed Methane)	If Alternate II completion, cement circulated from:
Cathodic Other (Core, Expl., etc.):	feet depth to: w/ sx cmt.
If Workover/Re-entry: Old Well Info as follows:	leet deput to.
Operator:	•
Well Name:	Drilling Fluid Management Plan (Date must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	· ·
Deepening Re-perf Conv. to ENHR Conv. to SWD	Chloride content: 37,000 ppm Fluid volume: 1,800 bbls
Conv. to GSW	Dewatering method used: Hauled off
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name: Wildcat Oil & Gas, LLC
Dual Completion Permit #:	Lease Name: Liebl #2 SWD License #: 31337
SWD Permit #:	Quarter SW Sec. 27 Twp. 34 S. R. 11 East V West
ENHR Permit #:	County: Barber Permit #: D-30,574
GSW Permit #:	County. Dailbox Permit #:
05/11/2011 05/19/2011 06/03/2011 Spud Date or Date Reached TD Completion Date or	
Spud Date or Date Reached TD Completion Date or Recompletion Date	
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workover or co of side two of this form will be held confidential for a period of 12 months if requiality in excess of 12 months). One copy of all wireline logs and geologist well BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 for	uested in writing and submitted with the form (see rule 82-3-107 for confiden- Il report shall be attached with this form. ALL CEMENTING TICKETS MUST
	RECEIVED RECEIVED KCC Office Use QNUSS CORPORATION COMMISSIC egu- with Letter of Confidentiality Received Letter of Confidentiality Received RECEIVED RECEIVED RECEIVED RECEIVED RECEIVED RECEIVED IIIN 1 4 2011
AFFIDAVIT	KCC Office Use QNLXS CORPORATION
I am the affiant and I hereby certify that all requirements of the statutes, rules and re- lations promulgated to regulate the oil and gas industry have been fully complied	egu- with Letter of Confidentiality Received JUN 1 4 2011
and the statements herein are complete and correct to the best of my knowledge	
1	e. Date: Confidential Release Date: Conservation Division Wireline Log Received CONSERVATION DIVISION WICHITA, KS
Signature from Adultrandt	✓ Wireline Log Received ✓ Geologist Report Received
Title: Office Manager Date: 06/10/2011	UIC Distribution
Date:	ALT XI TII Approved by: Dete: 6/16/11

Side Two

Operator Name: Wild	lcat Oil & Gas, L	LC	_ Lease N	lame:	Liebl		Well #: _5_		
Sec. 27 Twp.34	s. R. <u>11</u>	East West	County:	Barb	er				
time tool open and clos	sed, flowing and shu s if gas to surface te	nd base of formations pend at-in pressures, whether sh est, along with final chart(s I well site report.	nut-in press	ure rea	ched static level	, hydrostatic pres	sures, bottom i	nole tempe	rature, fluid
			7						
Drill Stem Tests Taken (Attach Additional S.	heets)	☐ Yes 🔽 No		[√]L	og Formatio	on (Top), Depth ar	nd Datum	∏ Sa	ample
Samples Sent to Geolo	ogical Survey	☐ Yes 🗸 No		Nam Heebr	e ner Sh.		Тор 3635	D: -23	atum 09
Cores Taken		Yes No	; 	Stark	Sh.		4342	-30	14
Electric Log Run Electric Log Submitted	Electronically	✓ Yes No ✓ Yes No	j	Chero	kee Sh.		4574	-32	48
(If no. Submit Copy)	•			Missis	sippi		4635	-33	09
List All E. Logs Run: Dual Compensated Port Dual Induction Log Sonic Cement Bond Log	, ,								
		CASING Report all strings set-c	RECORD	✓ No	_	tion, etc.	***************************************		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig Lbs./		Setting Depth	Type of Cement	# Sacks Used		nd Percent ditives
Surface	12-1/4"	8-5/8"	23#		217'	60:40	185	2% gel	· · · · · · · · · · · · · · · · · · ·
Production	7-7/8"	5-1/2"	14#		4822'	60:40	40	4% gel + 4	% sodium met
· · · · · · · · · · · · · · · · · · ·		ADDITIONAL	CEMENTIN	IG / SQI	JEEZE RECORD	Class H	125	300 gal	+ 5% kolseal - ASF - Clapro
Purpose: —— Perforate	Depth Top Bottom	Type of Cement	# Sacks	Used	•				
Protect Casing Plug Back TD					1				
Plug Off Zone			<u> </u> 			· · · · · · · · · · · · · · · · · · ·			
		<u> </u>			<u> </u>	<u>.</u> .			
Shots Per Foot		ON RECORD - Bridge Plugs Footage of Each Interval Perf				icture, Shot, Cemen mount and Kind of M		rd	Depth
2	4659' - 4674'	<u>.</u>			1500 gal 10%	HCL Acid; 1500 g	al MIRA Acid C	onversion	
2	4547' - 4659'				3 gal Acid Ir	hibitor			
						·	R	ECEIVE	-D
	-							N 1 4	
TUBING RECORD:	Size: -7/8*	Set At: 4621'	Packer At	:	Liner Run;	Yes ☑ No	KCC	WICH	HITA
Date of First, Resumed F	Production, SWD or EN	T	od: Pumping	- ·	⊥ Gas Lift [](Other (Explain)			· · · · · · · · · · · · · · · · · · ·
Estimated Production	Oil	Bbis. Gas	Mcf	Wat	er E	lbis.	Gas-Oil Ratio		Gravity
Per 24 Hours	50	150			200		3:1	2	4.5
DISPOSITIO	ON OF GAS:	N	METHOD OF	COMPL	ETION:	<u> </u>	PRODUCTI	ON INTERV	AL:
Vented ✓ Sold	Used on Lease	Open Hole	Perf.	Dually (Submit		mmingled 4	<u>659' - 4674'</u>		
. (If vented, Sub-	mit ACO-18.)	Other (Specify)		COUDINE	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	4 <u>4</u>	<u> 547' - 4659'</u>		



PO BOX 31 Russell, KS 67665

INVOICE

Invoice Number: 127272

Invoice Date: May 15, 2011

Page:

1

Voice: Fax:

(785) 483-3887 (785) 483-5566

Bill To:

Wildcat Oil & Gas 10286 SW 170th Ave. Nashville, KS 67112

Customer ID	Well Name# or Customer P.O.	Payment	Terms
Wild	Liable #5	Net 30 I	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Medicine Lodge	May 12, 2011	6/14/11

Quantity	Item	Description	Unit Price	Amount
111.00	MAT	Class A Common	16.25	1,803.75
74.00	MAT	Pozmix	8.50	629.00
4.00	MAT	Gel	21.25	85.00
6.00	MAT	Chloride	58.20	349.20
195.00	SER	Handling	2.25	438.75
30.00	SER	Mileage 195 sx @.11 per sk per mi	21.45	643.50
1.00	SER	Surface	1,125.00	1,125.00
60.00	SER	Pump truck Mileage	7.00	420.00
1.00	SER	Head & Manifold Rental	200.00	200.00
60.00	SER	Light Vehide Mileage	4.00	240.00
1.00	EQP	8.5/8 Wooden Plug	82.00	82.00
1.00	CEMENTER	Carl Balding		
1.00	EQUIP OPER	Ron Gilley		
1.00	CEMENTER	Darin Franklin		
			RE	CEIVED
			JUI	V 1 4 2011
			KCC	CEIVED V 1 4 2011 WICHITA

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE
Jun 9, 2011

_		Δ
7	Subtotal	6,016.20
l	Sales Tax	215.27
l	Total Invoice Amount	6,231.47
	Payment/Credit Applied	
l	TOTAL	6,231.47

ALLIED CEMENTING CO., LLC. 040706

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT: Making hodget 1.
DATE 5-12-0 SEC TWP 345 RANGE IW	CALLED OUT ON LOCATION JOB START JOB FINISH
	Pattle spake Rd East Rodge STATE
OLD OR NEW (Circle one)	ATTE Spale For East Booker For
OLD OR NEW (Circle one)	Oust 19 Ny E/S
CONTRACTOR Hardt	OWNER
TYPE OF JOB Surface HOLE SIZE /2 T.D.	CEMENT
CASING SIZE 878 DEPTH 220	AMOUNT ORDERED
TUBING SIZE DEPTH	185 5x 60:40:216=(+3/a
DRILL PIPE DEPTH TOOL DEPTH	
PRES. MAX MINIMUM	COMMON class A 1115x@ 16.25 1803.75
MEAS. LINE SHOE JOINT	POZMIX 745x @ 8.5° 629.00
CEMENT LEFT IN CSG.	GEL 45x @ 21.25
DISPLACEMENT 13 Blds Flesh	CHLORIDE 65x @ 50.20 349.00 ASC @
EQUIPMENT	
EQUI MENT	
PUMPTRUCK CEMENTER and Baldias	,
#357 HELPER Ron Gilley	@
BULK TRUCK	
#36 4/ DRIVER Hasia Avantha	
# DRIVER	—— HANDLING 195 @ 2.27 438.75
	MILEAGE 20/.11/ 195 643.50
REMARKS:	TOTAL 3949.20
Rig 220' 898 Carine	SERVICE
Dreak circulation	
Peleose Oluc	DEPTH OF JOB <u>\$20</u> PUMP TRUCK CHARGE // 25. ∞
Displace with 13 Bb/s water	EXTRA FOOTAGE @
Loque 15 correct in Cax	
+ SPUT IN, Contract Did cin	MAIN 000
1.,	Cight vehicle 60 @ 4.00 2400
CHARGE TO: Wildrat DIL+6as	
STREET	TOTAL 1985
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
	1-wooden plug @ 82.00
	<u></u>
To Allied Cementing Co., LLC.	nent RECEIVED
You are hereby requested to rent cementing equipm	@
and furnish cementer and helper(s) to assist owner contractor to do work as is listed. The above work	Or Illat 4 L sou
done to satisfaction and supervision of owner agent	tor TOTAL 82
contractor. I have read and understand the "GENE	RAL KCC WICHIT
TERMS AND CONDITIONS" listed on the reverse	e side.
C = 1/2 1	TOTAL CHARGES
PRINTED NAME Scott Adelhards	DISCOUNT IF PAID IN 30 DAYS
1 11- 2.1	
SIGNATURE Scott Colelker	



PO BOX 31 Russell, KS 67665

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

Wildcat Oil & Gas 10286 SW 170th Ave. Nashville, KS 67112

ı	N	V	U	U	C

Invoice Number: 127302

Invoice Date: May 19, 2011

Page:

1

Customer ID	Well Name# or Customer P.O.	Payment	Terms
Wild	Liebl#5	Net 30	Days
Job Location 💸 🖰 🚕 😸	Camp Location	Service Date 🧶 🥏	Due Date
KS1-02	Medicine Lodge	May 19, 2011	6/18/11

Section 18 Control of the Control of

Quantity	Item	Description	Unit Price	Amount
24.00	MAT	Class A Common	16.25	390.00
16.00	MAT	Pozmix	8.50	136.00
2.00	MAT	Gel	21.25	42.50
125.00	MAT	Class H Premium	19.25	2,406.25
13.00	MAT	Salt	23.95	311.35
625.00	MAT	Kol Seal	0.89	556,25
14.00	MAT	SMS	3.00	42.00
194.00	SER	Handling	2.25	436.50
30.00	SER	Mileage 194 sx @.11 per sk per mi	21.34	640.20
1.00	SER	Production Casing	2,405.00	2,405.00
60.00	SER	Pump Truck Mileage	7.00	420.00
1.00	SER	Manifold Head Rental	200.00	200.00
60.00	SER	Light Vehide Mileage	4.00	240.00
1.00	EQP	5.5 Top Rubber Plug	73.00	73.00
1.00	EQP	5.5 Guide Shoe	240.00	240.00
1.00	EQP	5.5 AFU Insert	286.00	286.00
5.00	EQP	5.5 Centralizer	49.00	245.00
8.00	EQP	5.5 Reciprocating Scratcher	. 76.00	608.00
1.00	CEMENTER	David Felio		
1.00	OPER ASSIST	Larry Shaver	DECE	
1.00	EQUIP OPER	Ron Gilley	RECEIV	ED
			JUN 1 4	2011

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1935-61

ONLY IF PAID ON OR BEFORE
Jun 13, 2011

	1	2011	
Subtotal	0011 1 1	2011	9,678.05
Sales Tax	KCC WIC	HITA	389.55
Total Invoice Amount		11.17	10,067.60
Payment/Credit Applied			
TOTAL	A STATE OF		10,067.60

. ALLIED CEMENTING CO.. LLC. 040089

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665		SERV	ICE POINT: <u>Medici</u> na	eliage to	
SEC. TWP., RANGE C	ALLED OUT	ON LOCATION	JOB START	JOB FINISH	
DATE 05-19-11 27 34s 11 W	TELED COT	ON EGGATION	COUNTY	F30 PM	
LEASE L'es/ WELL # #5 LOCATION		·	Barben	STATE	
OLD OR NEW (Circle one)			j		
CONTRACTOR Harder Dalg.	OWNER C	Vild Gt o	ilegas	ددر	
TYPE OF JOB Pas Inthon Casay ' HOLE SIZE 77/B T.D. 4825	CEMENT		•	,	
CASING SIZE 5/4 DEPTH 4823	AMOUNT ORI	DERED 40 SK	60:40:4	1290/+,4%	
TUBING SIZE DEPTH DRILL PIPE DEPTH	Solt + 5	silicate &	12558 cla 500-als AS		
TOOL DEPTH				Clapus.	
PRES. MAX / 300 MINIMUM — MEAS. LINE SHOE JOINT 42.66	COMMON C	ω ss/T 24s	¥@ /6.2) _ ¢@	390	
MEAS. LINE SHOE JOINT 42.56 CEMENT LEFT IN CSG. 43	POZMIX GEL		@ 21.21	42	
PERFS.	CHLORIDE _				
DISPLACEMENT // 6 / BG/s 2% KCL Water EQUIPMENT	ASC_ Class H	12551	x@ 79.21	240625	-
EQUAMENT	Salt	131%	@ 23 ⁹³	3//-55	-
PUMPTRUCK CEMENTER D'Flis L. Shaved	Kolsen SMS	625# 14#	œ.	42.00	
# 352 HELPER R. Gilley BULK TRUCK					
# 364 DRIVER D. Felio			_@		
BULK TRUCK # DRIVER		0.1	- @ 		
# DRIVER	HANDLING / MILEAGE 3	74 5/194/.11	_@_ <u></u>	640 700	
REMARKS:	WILLAGE FY	2 <i>f</i> . 1 . y	TOTAL	4961105	•
Pige on Book Brak Cicc. Pump to the Pace	_				
Flish, Pluz Rothslew/153x (1866 cent, Pump 255) Spanning Conert Mix 1255x toil Conert Stor	*	SERVI	CE		
Pune, Wash Pump & Lines, Releaselby, Start	DEPTH OF JO		3.		
Displacement u/ 21 the Water See Steady	PUMP TRUCK EXTRA FOOT		@	2405,00	
Bung Plas at 116 % Bols	MILEAGE	60	_@ <u></u>	4200	
total Disp., Release PST, Float Did Hold	MANIFOLD_	Hendrental	0 4·00	2000	
	Light Vehi	de Di	_@_ _		
CHARGE TO: Wild G+				75/100	_
STREET			TOTAL	3265	
CITYSTATEZIP					
		PLUG & FLOAT	r EQUIPME	VI.	
	1-TRP		_@_ _	73.00	
(51/1)	1-Guide Sh	oe.	_@	240.0	
To Allied Cementing Co., LLC.	5 - Control	izens	-@ <u>-49</u>	2480	
You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	8- Reup S	conteles	_@_ <i>76<mark>#</mark></i>	6000	
contractor to do work as is listed. The above work was		` ` `	TATAI	1452=	RECEN
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL			IOIAL		- OFIVED
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (lf Any)	Charles .		JUN 1 4 2011
	TOTAL CHAR	GES			
PRINTED NAME TIM PLERCE	DISCOUNT _		TF PA	ID IN 30 DAYS	KCC WICHITA
JED.		T			•
SIGNATURE		•			